Sanity-Check for PMSL_ts.nc

Var: PMSL
PMSL min PMSL max
min: 9.42e+04 . min: le+05
101000 400 + max‘)4e+05
mean: 1.03e+05
350 A std: 6.63e+02 104000
q_2: 1.02e+05
100000 450 1.0
300 q_98: 1. L 103500
- 99000 250 A
200 - 103000
- 98000 i
150 - J
- 102500
97000 100
50 102000
96000
0
0 100 200 300 400 0 100 200 300 400
PMSL mean PMSL mean - distribution
400 102000
350
101800
300 o
3
- 101600 ¢ 10°
250 0
>
o
i G
150 101200 “
100 101000
50
100800

0 100 200 300 400 100800101000101200101400101600101800102000



